Westernblot o

N N © o R
«© oK > 0@ g T Vo
o ?"\\ W& s 00(\%6“\0\\\@” & GANCAN S
— 100kDa ==
100kDa 100kDa —
_—— - - — —— — 55kDa ==
55kDa — 55kDa =" a
- 40kDa — o
40kDa 40kDa — : #
- 35kDa =
3okDa 35kDa — Lh 1 L
- 20kDa —
20kDa 20kDa =
IFNAR2
IFNa1 PLSCR1
\‘0 ©° \ X O\ R
QO
SN\ ?@‘ 00(\ e\\\\Q\ N
100kDa = | 100kDa =
55kDa — b e . - - 55kDa =
40kDa = " A0KDQ = - — — — —
35kDa = i G 35kDa =
20kDa = 20kDa =
TCF4 B actin
Co-immunoprecipitation
\ 2 o
(0 A& OQ N \ O
OO(\ @\0 & R & SO ,bc,o‘?
Qe (& @ T &
100kD2 = sy g - 100kDa = 100kDa =
— - —_— e -— — —
55kDa - 55kDa -— - 55KDg — - -
40kDa = 40kDa = 40kDa =
35kDa — 35kDa = 35kDa —
20kDa = ‘ 20kDa — A
STAT1 Input IRF9 Input STAT1 IP
Qo
A (o
$© \0\ v oS
IR @?\ ?\q'b
100kDa =
55kDa = -
40kDa —
35kDa =
20kDa =

IRF9 COIP



